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Cepnga 16. Toukn P u ()
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1. Cwmorpure nepByio KapTUHKY.
(a) Hokaxure, 9T0 ToUKa P JIXKUT Ha MeJuaHe u3 BepIiuHbl A.
(b) Hokaxwure, uro orpaxkenust P’ u P” Toukun P orHocuresibHO cToporbl BC u
OTHOCUTEBHO cepenuHbl croporbl BC' jexar Ha okpyx)uocTu (ABC).
(¢ ) Hokaxwure, 9T0 4eThIpEXyroibHuK BAC P’ — rapMoHUYecKuii.
(d) Hokaxkwure, 9To Touka P — MPOEKIMsi OPTOIEHTPA HA MeJNaHy.

2. Cwmorpure BTOpyIO KapTHHKY.
(a) okaxure, 9T0 TOUKa () JIEKUT HA CUMEJMAHE U3 BEPIIUHBI A.
(b) Hdokaxkure, 9yro TOYKa () — IPOEKIMs IIEHTPA OIUCAHHON OKPY’KHOCTH Ha
CUMEIUAaHY.

3. Kacarenpnas x onucanHoit okpyzkHocTu Tpeyroabauka ABC (AB > AC) B Bep-
muae A nepecekaer npsimyio BC' B Touke M. Touka X — orpaxkenne Touku C
oTHOCUTEIbHO mpsiMoit AM , a Touka Y — orpazkenne ToUkn A OTHOCHTETHHO TIEH-
tpa M. Hokaxkure, aro Touku A, B, X, Y jexxar Ha OAHOII OKPY2KHOCTH.

4. Let ABC be a triangle with AB > AC' > BC'. Let D be a point on AB such
that CD = BC, and let M be the midpoint of AC. Show that BD = AC <—
/BAC =2/ABM.

5. Cepemunanble mepreHnKyasspbl K croporam AB n AC tpeyronbauka ABC niepe-
cekaroT ero meauany AM B Toukax X m Y coorBercrBenno. IIpsmbie BX u CY
IepecekaroTcsa B To4Ka 4. Jlokaxkure, uro Touku A, Z u cepeaunnl cropon AB u
AC nexat Ha OTHON OKPYKHOCTH.

6. In an acute triangle ABC segments BE and C'F' are altitudes. Two circles passing
through the points A and F' are tangent to the line BC at the points P and @ so
that B lies between C' and (). Prove that the lines PE and QF intersect on the
circumcircle of triangle AEF.

7. B mapamrenorpamme ABC' D uposenena Boicota BH x cropone AD. JIBe oKpyK-
HOCTHU, mpoxoagiiue depe3 Touku C' u D, kacatorcs upamoit BH B Toukax X u Y.
Touka M — cepenuna AB. lokaxkure, uro M D — 6uccekrpuca yria X MY .



